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2ULJLQDO ,VVXH 'DWH� ����
0RGHO� %DWWHU\ &KDUJHU $FFHVVRULHV
0DUNHW� $XWRPDWLF 7UDQVIHU 6ZLWFKHV
6XEMHFW� %DWWHU\ &KDUJHU $VVHPEO\ 5HSODFHPHQW

.RKOHU &R� KDV LQWURGXFHG DQ LPSURYHG DXWRPDWLF EDWWHU\
FKDUJHU IRU WKH $76 SURGXFW OLQH� 1HZ EDWWHU\ FKDUJHUV
DUH IDFWRU\ VHW WR ��� RU ���YROW RXWSXW DQG UHTXLUH QR
FXVWRPHU DGMXVWPHQW� 2OG EDWWHU\ FKDUJHUV� LGHQWLILHG E\
D ��� WR ���YROW VHOHFWLRQ VZLWFK RQ WKH VLGH RI WKH

DVVHPEO\� DUH QR ORQJHU DYDLODEOH� ,I UHSODFLQJ DQ ROG
EDWWHU\ FKDUJHU� UHIHU WR WKH IROORZLQJ WDEOH IRU
UHSODFHPHQW NLW SDUW QXPEHU� 8VH WKH LQVWDOODWLRQ
LQVWUXFWLRQV VXSSOLHG ZLWK WKH NLW� 7KLV FKDQJH ZLOO EH
UHIOHFWHG LQ SDUWV FDWDORJV DV WKH\ DUH XSGDWHG�

1HZ %DWWHU\ &KDUJHU $VVHPEO\ .LW
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